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BACHELOR OF SCIENCE (B. Sc.) 
(LIFE SCIENCES) 

Term-End Examination 
December, 2022 

LSE-09 : ANIMAL DIVERSITY—I 

Time : 3 Hours     Maximum Marks : 75 

Note : Question No. 1 is compulsory. Attempt any 

six questions from question nos. 2 to 8. 

1. (a) Fill in the blanks : 5×1=5 

(i) In food habit, plants are generally 
.................. and animals are generally 
................... . 

(ii) Organisms without a nuclear 
membrane surrounding the nuclear 
material are known as ............... and 
organisms with well formed 
membrane around the nucleus are 
known as .................. . 

(iii) Kala-azar is a serious disease in 
humans caused by the protozoan 
................... .................. . 
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(iv) The division of the body into smaller 
transverse compartments along the 
anterio-posteriors is known as 
................... . 

(v) .................... cleavage is characteristic 
of protostomes and ................. cleavage 
is characteristic of deuterostomes. 

(b) Indicate whether the following statements 
are True or False : 5×1=5 

(i) Adaptive radiation is a characteristic 
feature of polychaetes. 

(ii) Biting and chewing mouthparts are 
found in mosquitoes. 

(iii) Torsion is the most distindive 
character of Gastropods. 

(iv) Pulmonary chamber is found only in 
aquatic molluscs. 

(v) Aristotle’s lantern is the characteristic 
feeding organ of class Echinoidea. 

(c) Match the items given is Column A with 
those of Column B : 5×1=5 

Column A Column B 

(i) Ephyra (1) Nereis 
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(ii) Trocophore (2) Zoea 

(iii) Penaeus (3) Bipinnaria 

(iv) Asteroidea (4) Aurelia 

(v) Cnidaria  (5) Planula 

2. Write short notes on any two of the following  
(in 150-200 words) : 5×2=10 

(a) Osmoregulation and excretion in protozoa 

(b) Epitoky 

(c) Endoskeleton in non-chordates 

3. With the help of a neat and labelled diagram 
explain the canal system in sponges.  

(200&250 words)10 

4. What is polymorphism ? With the help of any 
two examples explain polymorphism insects.  

(200-250 words)10 

5. With the help of suitable diagrams explain the 
locomotory organelles in Protozoa.  

(200-250 words)10 

6. Compare and contrast the respiratory system of 
an aquatic arthropod with that of a terrestrial 
arthropod.   (250-300 words) 10 
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7. Define biological communication. How are 
visual and chemical signals used effectively in 

communication ? Explain with suitable 
examples.   (250-300 words) 10 

8. Discuss the role of arthropods as pathogens and 
as vectors of human diseases.  

(300-350 words) 10 
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      LSE-09 

foKku Lukrd (ch- ,l&lh-) (tho foKku) 

l=kkar ijh{kk 

fnlEcj] 2022 

,y-,l-bZ--09 % izk.kh fofo/rk&I 

le; % 3 ?k.Vs     vf/dre vad % 75 

uk sV % iz'u la[;k 1 vfuok;Z gSA iz'u la- 2 ls 8 rd 

fdUgha N% iz'uksa ds mÙkj nhft,A  

 

1- (d) fjDr LFkkuksa dh iwfrZ dhft, % 5×1=5 

(i) vkgkj izo`fÙk esa ikS/s izk;% ----------------------------- gksrs gSa 

vkSj izk.kh --------------------------------

(ii) os tho ftuesa dsUnzdh; inkFkZ ds pkjksa vksj 

dsUnzdh; f>Yyh ugha gksrh] 

 gksrs gSaA 

------------------------------- 

dgykrs gSa vkSj ftu thoksa esa dsUnzd ds 
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vklikl lgh :i esa xfBr f>Yyh gksrh gS 

os -----------------------------

(iii) euq";ksa esa dkyktkj uked xaHkhj chekjh  

 dgykrs gSaA 

---------------------------------------

(iv) 'kjhj ds vxz&i'p d{k esa mlds NksVs&NksVs 

vuqizLFk d{kksa esa foHkktu dks 

 izksVkstksvk ds dkj.k gksrh gSA 

-------------------------------

(v) 

 

dgrs gSaA 

------------------------------- fonyu izksVksLVkseksa dk fof'k"V 

y{k.k gS vkSj --------------------------------

([k) fuEufyf[kr esa ls dkSu&ls dFku lR; gSa vFkok 

vlR; % 5×1=5 

 fonyu 

M~;wVsjksLVkseksa dk fof'k"V y{k.k gSA 

(i) vuqdwyh fofdj.k ikWyhdhVksa dk ,d 

fof'k"V y{k.k gSA 

(ii) drZu rFkk poZ.k eq[kkax ePNjksa esa ik, tkrs 

gSaA 
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(iii) foeksVu (ejksM+) xSLVªksiksMksa dk lokZf/d 

fof'k"V y{k.k gSA 

(iv) iQqÝiQqlh; dks"B dsoy tyh; eksyLdkvksa 

esa ik;k tkrk gSA 

(v) vjLrw dh ykyVsu bdkbuksbfM;k oxZ dk 

fof'k"V v'ku vax gSA 

(x) dkWye ^v* dh enksa dk dkWye ^c* esa nh xbZ 

enksa ls feyku dhft, % 5×1=5 

dkWye ^v* dkWye ^c* 

(i) ,siQkb;jk (1) uhjhl 

(ii) VªksdksiQksj (2) tksb;k 

(iii) ihfu;l (3) ckbfiusfj;k 

(iv) ,sLVsjkWbfM;k (4) vkWjhfy;k 

(v) ukbMsfj;k (5) IySuqyk 

2- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ 

fyf[k, (150&200 'kCnksa esa)% 2×5=10 

(d)  izksVkstksvk esa ijklj.kfu;eu vkSj mRltZu 

([k)  ,fiVksdh 

(x)  vd'ks#fd;ksa esa var%dadky 
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3- lkiQ o ukekafdr fp=k dh lgk;rk ls Liatksa esa uky 

ra=k dk o.kZu dhft,A      (200&250 'kCnksa esa) 10 

4- cgq:irk D;k gksrh gS \ fdUgha nks mnkgj.kksa dh 

lgk;rk ls dhVksa esa cgq:irk dk fooj.k nhft,A  

       (200&250 'kCnksa esa) 10 

5- mi;qDr fp=kksa dh lgk;rk ls izksVkstksvk esa lapyu 

vaxdksa dk o.kZu dhft,A   (200&250 'kCnksa esa) 10 

6- ,d tyh; rFkk ,d LFkyh; vkFkzksZiksM ds 'olu ra=k 

dh ijLij rqyuk dhft,A   (250&300 'kCnksa esa) 10 

7- tSfodh; lapkj dks ifjHkkf"kr dhft,A n`'; vkSj 

jklk;fud ladsr fdl izdkj ls izHkkoh :i esa lapkj 

esa iz;qDr gksrs gSa \ mi;qDr mnkgj.kksa dh lgk;rk ls 

o.kZu dhft,A            (250&300 'kCnksa esa) 10 

8- jksxtudksa rFkk ekuo jksxksa ds jksxokgdksa ds :i esa 

vkFkzksZiksMksa dh Hkwfedk dh ppkZ dhft,A  

      (300&350 'kCnksa esa)10 
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